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H iy = °C °C °C °c

1 A 166 163 1,605 1,708
2 X 165 162 1,560 1,689
3 7K skokok *kokk skokok *kokk
4 x *okk *okok *okk *okok
5 ol kekok skekok kekok skokok
6 u ol *okok *okok *okok *okok
7 =] *okok *okok *okok *okok
8 A Hokok Hokok Hokok Hokk
9 N koksk ksksk koksk ksksk
10 7K sokok Fokk $okok Fokok
1 PN 88 67 1,377 1,387
12 € 165 144 1,356 1,542
13 T 165 163 1,568 1,696
14 H 167 163 1,690 1,733
15 A 168 163 1,665 1,723
16 X 168 163 1,592 1,660
17 K 167 163 1,442 1,598
18 PN 168 163 1,430 1,595
19 & 167 163 1,549 1,611
20 T 167 164 1,584 1,636
21 H 167 164 1,578 1,633
22 A 167 163 1,548 1,648
23 X 167 163 1,633 1,668
24 7K 166 163 1,503 1,615
25 PN 165 163 1,601 1,656
26 € 167 163 1,484 1,605
27 T 166 163 1,362 1,602
28 H 166 163 1,629 1,688
29 A 166 163 1,643 1,678
30 X 167 163 1,590 1,650
31 7K 166 163 1,386 1,651
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